NUMERICKA RJESENJA ZADATAKA

2 REDUKCIJA SKUPA SILA
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Fr =1724 N, Fp, =28L1 N, Fp, =2913 N, F, ~440 N, a = 66,93,
B=5029°, y=48,55°, M, =-1332 N'm, M, =83,18N-m, M, =-73 N'm,
Mg =1572 N-m, ¢ = 147,92°, = 58,06°, & =92,66°, 0 = 91,42° (L Fy,M,).
Fr=11,18 N, M, =-22 N-cm.

Fre= 2,243 kN, Fp, = 1,414 kN, Fr=2,65kN, My=-7,7 kN-m.

Fre = —0,84 kN, Fy, = 2,12 kN, Fg = 2,28 kN, M, = —4,68 kN-m.

Fre=—180 N, Fp, =90 N, Fr =201,25 N, a = 153,43°, My = —10 N-m.

Fgry==30,62 kN, Fr, = =30 kN, Fr. = 27,43 kN, Fg = 50,89 kN, M, =—6,11 kN-m,
M, =3,12 kN-m, M, =-13,75 kN-m, My = 15,36 kKN-m.
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S;=3kN, S, = -5 kN, S5 =-4,24 kN, S, = —1 kN, S5 = 4 kN, S5 = 5,83 kN.
Si=-5kN, S, =2 kN, S;=-3,61 kN, S, = 0, Ss = 4 kN, Ss =—5,39 kN.

F, =1948N, F, =237,55N, F, =3072N, F,, =523N, F, =2225N,
F, =496 4N, F, =4969N

F, =400N, F, =-50N, F, =403,IN, F, =0, F,, =400N, F, =0,
F,=640N .

S, =195N, S, =137,5N, F, =0, F,, =300N, F,_ =75N, F, =309.2N.
F,=1340N, F,, =-87033N, F,, =670N, F, =109835N, F, =0,

F,, =2030,77N=F,.

S, =12369N, S, =0, S, =-5408N,

F,, =600N, F, =450N, F, =0, F, =750N.

Sep =544, 1N, F, =14375N, F, =—11604N, F, =587,IN, F,  =36,6N,
F, =599,6N .

S, =0,75kN, S, =0375kN, F, = -047kN, F, =8kN, F, =1,833kN,
Fy, =-2156kN, F,. =1167kN, F, =822kN, F, =245kN .

S, =32667N, S, =105N,

F,. =-23,33N, F,, =350N, F,_ =105N, F, =366,15N.

S=-500N, F,, =0, F,, =-3713N, F, =0, F, =3713N,

Fp, =—2228 N, F,, =250N, F, =3349N .





